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Topic:- General Studies

1) Choose the appropriate prepositions for the given sentence:
We waited  the station __ fifteen minutes.

1. in, for

2. at, for

3. in, upto

4. of, at

Correct Answer :-
e at, for

2) If IKLMNO is coded ACTVSRX, then how is MILLION coded? / Tf& IJKLMNO Y ACTVSRX | BIfsd

T wirar 8, af miLLion T Y Hifsa fear srame
1. STAATXR
2. SAVVAXR
3. SATTARC

4. SAVVARX

Correct Answer :-

» SAVVAXR

3) Complete the sentence choosing the right option:

The wonder of wondersis  manage to make a living in the face of soaring inflation.
1. how every people

2. how these people

3. how all peoples
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4. how all that people

Correct Answer :-

* how these people

4) If the perimeter of a square is 44m, what is its area? / gfe Udh it 1 uf¥HTY 44 Y %, a EXCdl
TGS T M2

1. 121m / 1214

2. 256m? / 256412
3. 121m? / 121912
4. 224m? / 224 H}2
Correct Answer :-

e 121m?/ 121912

5) Choose appropriate articles for the given sentence:

Dr. Amit Mitra, Secretary General of FICCI will address foreign delegates.
1.a,an

2. the, the

3.a,a

4. the, a

Correct Answer :-

o the, the

6) If Arun buys 10 pencils for Rs. 5 each, and sells all of them at Rs. 6 each, then how much
profit will he make out of it? / If¢ 3FU1, 5 % Ufd Ufya & fFHT | 10 RIS Wlgar g, iR
31 Tt Y 6 = ufa UfRrer & Swran 8, @t S fsaem @y ghm?

1.Rs. 12/ 124U
2. Rs. 10/ 10 =0T
3.Rs. 15/ 150U
4.Rs. 21 /210U

Correct Answer :-

e Rs.10/10 =UU
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7) Which country hosted the Chitwan Elephant Festival in 2016? / o a'EZTﬁ 2016 ® frraaq ET'\’ﬁ

HEIHd &1 3T far?

1. Bangladesh / CLERIER

2. South Africa / G&TOT 3{TpTehT
3. Nepal / B

4, India / HIRd

Correct Answer :-

e Nepal/ B

8) Shyam is working in a fireworks factory. The material to be used in coating his work clothes should

be / TUTH TS SMfaRIaTS HRETH § BT HdT g1 IYP DA a1 & faeiu= & IuaT g aral
AT, g+l =rfgul

1. Acrylic/ W
2. Rayon /i'q\ll:f
3. Polyester / EI:ﬁ%I'QW

4. Melamine plastic / HATHTS @R

Correct Answer :-

« Melamine plastic / HATHTS WIRedH

9) What is the expansion of the term WAN in computer technology? / PHYCY wenfiet & e o
“WAN” RTeg 1 faegd =0 1 82

1. Wide Angle Network / dIgS Q‘IQ1 :ICOIO‘f;

2. Wide Area Network / dISS QI?ZII '?ICdC(f;

3. Wide Application Node / A58 UGB R IS
4. World Application Network / I¢8 TR R Hcdd

Correct Answer :-

« Wide Area Network / A58 TRAT edd

10) <sit el | W g $H 3P s & 1T Tw Wsg TH?
1. s

2. 3l

3. gRadir
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4, <Y

Correct Answer :-

11) Choose the correct form of expression to complete the sentence:

You'll have to get a/ an

1. leave

2. pass

3. permission

4, admit

Correct Answer :-

to get into the factory.

12) The process of converting a liquid into its vapour by heating followed by condensation of vapour

back into liquid is called / ATU-T §RT %4 I 36® areq ¥ uf¥afda w7 3t uftwar, foraed ugmq

areg 31 fipY @ %@ § Ha g1 Hgardl 6:
1. Sedimentation / dITgd

2. Transpiration / m

3. Distillation / ST

4. Vapourisation / CILYICRU|

Correct Answer :-

« Distillation / ATHdA

13) «3(TS feeett @1 gedrs 3@ a7 > uegd 919 | Ugad ATHTR® Meg b1 A 3R Fad1¢

PP T ITuE e
1. TGN 9ANY

2. g A

3. fer a

4. 3(UYIHTT THNY

Correct Answer :-

. AGIY A
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14)

h [: ] -
|
.

Hesghil [feet)
W b

N\

B

0 3 & @ 12 5 1B 21 24

Bead the graph carefullv, a bov's age in vears and his height in feet are represented in the graph. What
was his age when he reached maximum height? / IT% &I ?RTFFISEIEF O¢, 58 I% H Th o5 ohl

3H (gul #) vd ciars (Fre &) wfia £ = &1 F9 39 Afean das ureg &, g7 3T
36 F A

1.21

2. 24

3.20

4. 19

Correct Answer :-
e 24

15) Finger like outgrowths in human intestine helps to / HTEAg 3fid | STferdl & THTT 3§%f,
Il el B

1. Make the food soluble / HIoH & faag &
2. Absorbs the digested food /tIT[%TH IS &1 TN B §
3. Absorbs the undigested food / TR-UTfRId HIoH &1 aNNd B §

4. Digests the food substances / <] et Y Tam o

Correct Answer :-

e Absorbs the digested food /tIT[%TH YIS BT TN B §

16) «THR, MR, 3R $YH 3T T 8 TTHT & YR R Ta! ared He e
1. TR AT

2. Ggad a1

3. fhy o
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4, Jfed arg

Correct Answer :-

o A AIH

17) The musical instrument that produce music through vibrating air columns are called / dg dT<l Ti?l,
oY arg wWHl § HUA & qrend | Wi ST SR g, PHgardr gl

1. Percussion instrument / Uc dl<]

2. String instrument / AR dTe]

3. Wind instrument/ﬁiﬁ? drd

4. Electronic instrument / Eaﬁlfj’m CIE)

Correct Answer :-

e Wind instrument/ﬁm CIE

18) Findﬂlex*alueof:tafll:![!+25. / 100 =25 % :11 & AT 7T HI

2.25
3.4

4.1

Correct Answer :-

19) 13 13
—0 51[5:1"51EFI'—E§'3I:
17 f 17

1.39
2. 49
3.31

4. 51

Correct Answer :-

e 39
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20) What is India’s ranking position in the Global Competitiveness Index (GCI) 2016-2017? / %ﬁw

wferefarsar gaeie (@ed Hrdifea d sSa) (GCI), 2016-17 T YR &1 &1 I 82
1. 551 / 55dff

2. 39 / 304t

3. 1121/ 1124

4. 8™ / ggdf

Correct Answer :-

. 39t/ 30}

21) “Uf¥UITH” Yeg HT HY! f9Ug =1 22
1. g + 9
2. TR+ TH
3. 9R + A

4, J+HH

Correct Answer :-

« OR+9M

22) Find the mean of the first seven odd numbers? / UYH HTd fawwg Tw=an &1 "1 ITd B2
1.7

2.9

3. 11

4. 14

Correct Answer :-

23) In a certain language, fil wil til means tell them now; wil skel feil means now and then. Which is the
word for wil in that code language? / IEIRCIG R ﬁ, fil wil til PT HdAd % tell them now; wil skel
feil BT AT & now and then. T I HTHT & wil & ford 11 AT 21eg; B2

1. Now
2. Tell
3. Them

4. Then
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Correct Answer :-

 Now

24) Choose the correct form of tense for the given sentence:
Do not distract me at the moment. I to concentrate.

1. was trying

2. am trying

3. try

4, tried

Correct Answer :-

e am trying

25) Choose the appropriate prepositions for the given sentence:
The city  Quitolies  the equator.

1. of, near

2. 1n, to

3. 0n, in

4. by, on

Correct Answer :-

Topic:- Lab Technician

1) Example for liquid anticoagulant is ./ dRd YGHI-IN BT JalerUl
gl

1. EDTA/%E‘E'Q
2. Oxalate/ﬁ'ﬁaﬂa—cr

3. Sodium citrate / ASTH R
4. Sodium fluoride / TSTH TARTSS

Correct Answer :-

« Sodium citrate / ifgad ¢
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2) Myoglobin is a oxygen binding protein found in /H'Rﬂ"?ﬂ'ﬁ:l, s
TIIT ST ATl U STeRITorT aTeaahi_y Uidi= g1

1. Heart muscle / &d 1 HIGUTRRI
2. Lymphatic fluid/ DT o (ﬁﬁﬁ?—%&_ Ucfus)
3. Liver / ¥llaR

4, Plasma / WIIGHT

Correct Answer :-

« Heart muscle / &4 &t aiaREt

3) Preservative used for 24 hour urine sample is /244 & HA T'I'Hﬁ & ferg
T IR gl

1. Conc. HCI/WW
2. Glucose / W

3. Maltose / ATee I

4. Dextrose / é?ma?r

Correct Answer :-

« Conc. HCI/ Tifgd T=iiud

4) reagent used for occult blood test is carcinogenic. / T[g Ydd wirg & ﬁl’Q’

T P FRPR® ¢
1. Biuret / ETIE'QR_C'
2. Benedict’s / éﬁ%aar

3. Bial’s / d[Ue]
4. Benzidine / ST

Correct Answer :-

« Benzidine / éﬁl@ﬂ:{

5) Test done for clotting time is called .| Thed g & ﬁl'l'{ P S e
SIS Fgardl gl

1. Capillary tube method / BRI AfcTenT fafd
2. Duke method / S fafer
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3. Template method / ¢HITIC fafd
4, Ivy method / 3‘|T§Eﬁ fafer

Correct Answer :-

« Capillary tube method / BRI AfcreT fafdr

6) Azoospermia refers to . /‘{[Wl'ﬂﬁ:l?ﬂ (@Sireafam &1 o
e

I
1. Absence of semen / A1 Bt &Hﬁfﬁf
2. Absence of sperm / [PTU] Cdl \?rlﬁq@-lﬁf
3. Absence of RBC / Rl 1 @Iﬁq@ﬂ%
4. Presence of semen / 414 @1 IUTRYTT

Correct Answer :-

 Absence of sperm / J[hTU] Gl &lﬁq@-lﬁf

7) The “A” in CPD-A stands for and it gives better preservation. / W—E

g BT ad g 3R 98 R URREUI AT 8|
1. Adsol / TSHIA

2. Adenine / TS

3. Alkaline / &R (TehallsH)

4. Anhydrous / FSid (TT81889)

Correct Answer :-

e Adenine / Q@F‘nq

method is used to demonstrate motility of bacteria. / ﬁﬁl,

Gﬁmaﬁwﬁnﬂwaﬁwﬁhaﬂﬁ%mmﬁ?ﬁ%l
1. India Ink / S~ b

2. Lactophenol / SaeItp-Td

3. Loeffler /| CHURR

4. Hanging drop / %.Ii'lll Sy

Correct Answer :-

« Hanging drop / %'Ii'lll Sy
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9) Enzyme related to heart is ./8qd ¥ Hafed TSI
gl

1. Amylase / T
2. Lactate dehydrogenase / dace 3'6@3\ SIBE

3. Lipase / T“I'Igefﬂ
4, Acid phosphatase / TS Bhidhed

Correct Answer :-

. Lactate dehydrogenase / TIdCC SIgTaS oI

10) Haem part of haemoglobin consists in ferrous state. / mﬁq Gl

BIH U, g (hRY) AT A Y g g gl
1. Tron / TG

2. Potassium / GICREAA

3. Calcium / HIeRTH

4. Magnesium / THAREH

Correct Answer :-

. Iron/?ﬁ_s'

2. Staphylococcus epidermidis / % W1 SIEACES Qﬁl@[ﬁ%ﬂ

3. Staphylococcus saprophyticus / L HoRAIDIGT JUfthichd

4. Streptococcus pneumoniae / Q’W Q}}:n:ﬁ

Correct Answer :-

o Staphylococcus aureus / thhe::::el‘éﬂxld;lloh%l 3T

12) The specific gravity of urine is determined by using A DT fafkre

L E ] &y g1 Auifa gar 21
1. Calorimeter / PARTHIC
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2. Urinometer / q?l:ilﬂlai
3. Spectrophotometer / @a@tﬁaﬁf—c’?

4. Albuminometer / \H@&Fﬁﬁﬂ
Correct Answer ;-

e Urinometer / q?l:ilfllai

13) CANCELLED

GET IT ON
Google Play

Which is the smallest white blood cell (WBC) seen in blood? / Ydkl H 3@} oA arelt gad

BT 4 Yo FIRST (ST DI Al 3
1. Neutrophil / g Ifthdl

2. Eosinophil / 3RMAITA

3. Monocyte / HFINITSC

4. Basophil / &R&HRI (ST

Correct Answer :-

« Basophil / &R&®AT (a@lﬁb_('l)

14) Nuclear stain used in Papanicolaou stain is

TG AP fiRe® gl
1. Haematoxylin / éﬁﬂﬁ?ﬂﬁ‘l‘f

2. Trypan Blue / ‘qlgﬁ:r T

3. Neutral Red / SGRIF AT (S d X8)

4. Methylene Blue / Thurefer o

Correct Answer :-

« Haematoxylin / HEEESIINE

15) Which theory states that a single tRNA can recognize more than one codon? ack:] ﬁl?sﬂ—d &

3R, Thd & IR, T Hie- A S Ugdr Aol 82

1. Watson and Crick/a'TEﬂq @T%
2. Induced fit / ITSLES fthe

3. Wobble hypothesis /aﬁ'wiﬂ'&hﬁm
4. Darwin’s theory / Sl a1 @y
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Correct Answer :-

« Wobble hypothesis / dTssd BTSUITAIRIT

16) AFB staining is also called as staining. /Q'Q'W SRS B
AR W weTaTaT B

1. Gram’s / UTH&q

2. Giemsa / ﬁl'Q'J:lTFIT

3. Ziehl-Neelsen / STcl-ATcre
4. Leishman / ITREH

Correct Answer :-

e Zichl-Neelsen / Gﬂ?f-:ﬂﬁﬂ:f

17) Complete suppression of urine is known as ./ q;armqpf SAIY
& &Y § AT AT 8

1. Oliguria / ST (Hfergfanm)
2. Anuria / 3{HAdI (GPIﬁ'QT)

3. Hyposthenuria / WW
4. Hypersthenuria / WW

Correct Answer :-

« Anuria / 3T (SR

18) Thyroid gland secretes hormone. / 3(dg (ﬂ'l%?ﬁ%@') Uty
FHAI wTfad Sl 31

1. Ty

2. FSH / ThUHU
3. HCG / GIHTSit
4. LH / TdQg

Correct Answer :-
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PAS stain is used for the demonstration of . /T-ﬂ'Q'QW SfiReI®

& Y= H ugad g |

1. Lipid / feifUg

2. Acid phosphatase / 4SS WW\H
3. Glycogen / ISIECASE]

4. Amyloid / UGS

Correct Answer :-

. Glycogen/‘a|$$|@:l

20) Normal range of total bilirubin is ./ Pd faeftefam ot 9 ™™

g

1.0.2-1 mg% / 0.2-1 forciium,

2. 0-0.2 mg% / 0-0.2 oYy,
3. 0-0.5 mg% / 0-0.5 oy,
4. 0-0.8 mg% / 0-0.8 fhreiurH,

Correct Answer :-

. 0.2-1 mg% / 0.2-1 THeiTE%

21) VDRL is used for diagnosis of ./ ISR Ed &

Afrer & fore uge gian 2|
1. TB / €ldl

2. Diphtheria / fERAfRAT

3. Pneumonia / AT

4. Syphilis / Ffthfer g

Correct Answer :-

. Syphilis / ffthfera

22) Keeps blood in fluid state / 3 ® dva AT W RAdT &

« Maintains water balance / 9Id g S9T¢ 39T &

« Controls body temperature / T3R dI9A & fAafid #warg
. Contains antibodies / UfaRelt gad glaT 8
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These are the functions of ./ | *» ﬂv‘l'!f%'I

1. Plasma / WITGHT

2. Granulocyte / EFW
3. Monocyte / aHNEe
4. Platelet / ﬁ'@TUl

Correct Answer :-

e Plasma / WITGHI

23) The type of protein in urine of myeloma patients is called protein. /
TSIgG (qr3ardn) AR & 97 d M & TPR ot U Fal
AT gl

1. Albumin / Tes[o

2. Globulin / Tl feH

3. Bence Jones / §% Sl

4. Nucleoprotien / W’Eﬁ_ﬂ:{

Correct Answer :-

« Bence Jones / ST Sl

24) Fixative used in Leishman stain is ./ A=A RSP | Ugad
fRR®RI 2l

1. Acetone free ethanol / THICIH Had A
2. Acetone free methanol / THICIH Had EREI]

3. Acetone free butanol / THICH Had Eﬂ%_flu'lﬂ
4. Acetone free resorcinol / THICIH Had RSESSIBI

Correct Answer :-

« Acetone free methanol / THICIH Had AT

25) is an example for formalin containing fixative. /

AT godd fRREI $TTH ISEI B
1. Carnoy’s fluid / @RI BT &d
2. 10% Formal saline / 10% WIHd @als:l
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3. Clarke’s fluid / TRl §d
4. Flemming’s fluid / AT &

Correct Answer :-

e 10% Formal saline / IO%WTﬁFT @5‘”3:1

26) Unexpected antibodies are detected by ./ SrvreaTRre wfa=fara &1
& GRT 9T TR ST 5 |

1. DAT / SIQct

2. ICT / TSI
3. DCT / Srte

4. VDRL / AISI3RUA

Correct Answer :-

. ICT/ ST

27) Which is the infective form of the malarial parasite? / HATRYT & URSIId] BT AHTHS
WEY P AT

1. Oocyst / JHBYLT (G)"ﬁl?’)

2. Sporozoite / m mﬁ@
3. Bradyzoite / a@:ﬁﬁ@lﬁf

4, Tachyzoite / w\?ﬂ?@'

Correct Answer :-

« Sporozoite / EﬂFI'I'Uj,W (TRISge)

28) Lowenstein-Jensen medium is used for cultivation of . FﬁaT-I'\‘E'IST-I-

S ATEH ¥ "ot F g wgaa ST B
1. Bacillus anthracis / a@?ﬂ Eﬂﬁm

2. Mycobacterium tuberculosis / ma?ﬁﬂﬁqﬂ Eﬂﬁ?ﬂf‘nﬁm
3. Clostridium tetani / ﬁﬁ%’qﬁ el |E

4. Haemophilus influenzae / BT ET LUUT

Correct Answer :-

e Mycobacterium tuberculosis / W@Hx_ﬂﬁqﬁ Wﬁm
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29) Preservative used in ABD antisera is ./ Qﬁ:‘ﬁ Q_a'ﬁ?T H Ugad
e gl

1. 0.1% Sodium azide / 0.1% TTSTH TATSS
2. Sodium chloride / TfSTH TﬁthE_S'

3. Sodium carbonate / HIfSTH HIEHC

4. Sodium bicarbonate / STH IZHIEHT

Correct Answer :-

« 0.1% Sodium azide / 0.1% ITSTH TIAZS

30) Cytoplasmic stain used in H&E staining is AL Qag SfIReH ﬁm
SIRpIE SRR, 2l

1. Eosin / E'Ghﬁl:f
2. Haematoxylin / %amﬁﬂ

3. Neutral red / 3G €Td (gl 18)

4. Methyl Red / THUTSA XS

Correct Answer :-

e Eosin/ E'Ghﬁl:f

31) Dealcoholization means ./ epigd giaovl ((Suepigargaz) &1 3
? |

1. Dehydration / FSienaxor (FSgRgeM)
2. Impregration / SRR @ﬁm

3. Clearing / BT (aeiafa)
4. Embedding / 3Id: R0 (3W&TE™M)

Correct Answer :-

« Clearing / [T (aeitafia)

32) Lin “L Block” stands for ./ "Ud sdTp" § U BT 3

g |
1. Length / T“IEI'I_Sc
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2. Label / @Sd

3. Leuckhart’s / W’E{Tﬂ
4. Light / ?TIgC

Correct Answer :-

» Leuckhart’s / WI_C{TY[

33) Diluting fluid used for RBC count is . / RETHT 7oET & e Ugdd
PRI 5a 2l

1. Dacie’s fluid / é;ﬂﬁfa_d

2. Turk’s fluid / TF1 gd
3. Hingleman’s fluid / f&TTerav1 g
4. 1% Ammonium oxalate / 1% 3‘|Thﬁtm 311”3%1@3

Correct Answer :-

« Dacie’s fluid / ST g9

34) Example for supravital staining is ./ 3freig WWW

g

1. New Methylene Blue / 74T ARy 9§

2. Perls Prussian Blue / UG TR ol

3. Gabbets Methylene Blue / ﬁéesr EIDIE| Ty
4, Trypan Blue / @gﬁ? ol

Correct Answer :-

« New Methylene Blue / g1 EIDIE| .

35) Wuchereria bancrofti causes ./ CIEIRD | Wi:m
IqT HRaT el

1. Amoebiasis / SHISTSIUT (SHTTR)

2. Toxoplasmosis / 3fTfavgedr mﬁﬂ)
3. Enterobiasis / TRl

4, Filariasis / qﬂ%@iﬁmﬁﬂ Wmm

Correct Answer :-
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« Filariasis / PTSANRTT T (BISATRATRI)

36) Immunogens are . L'I'Pcl?&‘l'lﬁq Eﬁ?f %'I
1. Complete Ag / wm

2. Incomplete Ag/ 3‘|'C|;Uf PIRSE

3. Allergens / TciRolq

4. Antibodies / UfcReft (Gdiaia)

Correct Answer :-

« Complete Ag/ Wfﬂﬁﬁl:[

37) Platelets are store at temperature. /ﬁWTl'{[ (WedcH)
AT R Hufed 5l 9 &1

1. 1-6°C

2. 12-15°C

3.30-37°C

4,22-24°C

Correct Answer :-

o 22-24°C

38) Kidney function test is ./ 'ﬂé 3! fparfafy & sira % |
1. Albumin / 3

2. Bilirubin / Ifdaq-fogauiear (facfisfaq)

3. Serum electrolytes / IRA 3@3@?@?

4. SGOT / THui3fIt

Correct Answer :-

« Serum electrolytes / IRy sﬁa@ﬁﬁf

39) Gooding and Stewart’s fluid is an example for fluid. / {[%'JTQH
Wada g, %9 $T Y& IET6VT 3

1. Dehydrating / BRG] (%31%%‘%‘1)
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2. Clearing AECARINCSIRIE
3. Decalcifying / fadp et (%WW’D
4, Impregnating / gk (sTDﬁ"eIﬁTD

Correct Answer :-

 Decalcifying / ICEIRIEE (%WCFETD

40) Expand the term ELISA. / TfeIT XTeg &1 fawR H3

1. Enzyme Unlinked Immunosorbent Assay / TSIgH 3@?{ RTINS STHTI CEIES]
3fcids SRANIRET THY)

2. Enzyme Linked Immunoglobulin Assay / TSITSH {[ﬁa Qﬁ?&lﬁ?ﬁ@lﬁ'ﬂ STHTIA (TS H INCS]

3. Enzyme Linked Immunosorbent Assay / QGHETT ﬁaﬁ Uf%l?&ﬂ'—‘?ﬁw STHTYA ('QGI'IET[ INES)
4. Enzyme Linked Immunosubstrate Assay / USTT3H YHd UAR&MHATYR SHHO (TolsH foide

Correct Answer :-

« Enzyme Linked Immunosorbent Assay / USTTgH ﬁaﬁ TfoR&RINS THTA CEIEL] INES

41) Example for gram-negative cocci is . | GTH-APRTHD ik 3qlexul
gl

1. Neisseria / AT

2. Staphylococcus / Tihaimiad
3. Streptococcus / e—m

4. Pneumococcus / ?Fhﬁw

Correct Answer :-

» Neisseria/ H]‘{i%lﬁ&rr

42) General test for protein is WS F '[%I'Q ITHI SiTg

g

1. Biuret / EI'IB'EB_C'
2. Benedicts / aﬁm
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3. BUN / §iguA
4. Benzidine / SIS

Correct Answer :-

 Biuret/ W

43) Full form of FNAC is ./ THUAT! &1 quf =7 gl

1. Fire Needle Aspiration Cytology / TPTUX Hred m‘r ngaﬁa::m

2. Fine Needle Aspiration Chemistry / lIg red E@I%QFT m

3. Fine Needle Aspiration Cytology / WIS Hred Q'@Q’QFT ﬂ'lg_cﬁ?[-:::ﬁ%ﬁ

4. Fine Neoplastic Aspiration Cytology / IS faefes Q'w ﬂ'lg?ﬁ?[\]’ﬁﬁ

Correct Answer :-

« Fine Needle Aspiration Cytology / IS Ted TRURTH Ageidaiol

44) Indicator used in antisera A is . Q'(ﬂ'\a?T Ty UYdd AP
g

1. Acriflavin / Qﬁﬂ@?ﬁq

2. Trypan Blue / aﬁﬂ iy
3. Bromocresol Blue / STHIch I ol
4. Methylene Blue / AT &

Correct Answer :-

 Trypan Blue / EAlsa:I T

45) is an Australia antigen. / Th \"Hm'q'lé
gfas= @ &) 21

1. HIV Ag / TI3MT5al Tolt
2. HBE Ag / Tdas Toil

3. HBS Ag / TT&ITY ol
4. HCV Ag / Toritdt Toit

Correct Answer :-

. HBS Ag/TIEIY Toll
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46) Neutral red is used as indicator in media. / SEGRI AT
Hear & oo $ FUA Uy aar |

1. Blood agar / Xad ﬂ"TIT

2. MacConkey’s agar/ ﬁmw

3. Chocolate agar / ﬂm?w

4. SDA / THSIT

Correct Answer :-

« MacConkey’s agar/ AHPHI-h TR

47) Ayer’s spatula is used to obtain sample from ./ GIE'CIﬁ ﬁg?n

A A B1Ra B P e wgad gl 2|
1. Uterus / TTHIRIT (JSH)

2. Cervix / THT iaT (IRfaa)

3. Fallopian tube / fSTaTfg Tcil (AU &d)

4. Endometrium / THTRRT 3fd:&R (TSHAfcaH)

Correct Answer :-

. Cervix / THTRTG UiaT (ARFIaT)

48) Method of sharpening of knife is VI ] P ol HA Bt fafyr
gl

1. Stropping / el BRAT @m
2. Clearing / Tt (Wﬁﬁ_qj'l)
3. Microtomy / IS hicoTHT

4, Honing / HT Goll (f‘ﬁﬁTD

Correct Answer :-

« Honing / BIEKS]| (Eﬁﬁ"'l)

49) Mantoux test is a skin test used for screening of . | A=CTad Sd U T
Sitg & st B BT & g yged g1 &

1. Leprosy / @8 AT
2. Hepatitis / %ﬁ?l's{ﬁﬂ
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3. AIDS / TgH

4. Tuberculosis / &3 T

Correct Answer :-

« Tuberculosis / &3 AT

50) is an example for immune mediated transfusion reaction. /

ufeRem wurREr sy ufafsar (R Hifdue ecivwgeH Ruewr) & fre

TS JaTERvI gl
1. Iron overload / T“ﬁ_@' 3ffmdr

2. Graft v/s host disease / HCTH S UTEIdT (BIRC) T
3. Circulatory overload / IRGaRY SfdHR
4. Bacterial contamination / \_rﬂa'lq HehHUT

Correct Answer :-

« Graft v/s host discase / HAH §-TH ATl (BIRT) AT

51) LISS stands for ./ TATSeHEY &7 3 3 |
1. Litre of Ionic Strength Solution / 3 Al Ot Bl aiex

2. Level of Tonic Strength Solution / 3 Ufed Oid &l TR
3. Low lonic Sugar Solution / BEEIRIBEREREIS
4. Low Ionic Strength Solution / g smafe wfed 9ia

Correct Answer :-

» Low lonic Strength Solution / Y smafAe e gia

52) Reagent used for floatation method of stool is /A P e fAfy &
fere vy aif¥ravie 3|

1. Saline/ﬂ?:ﬂl%ﬂ
2. 40% Formaldehyde / 40% tﬁﬁ@ﬂgﬁg

3. Ether / _EEQR
4, Zinc Sulphate / i Tethe

Correct Answer :-

« Zinc Sulphate / i Tethe
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53) is the thigh bone. / W T gSt gl
1. Radius / Boa1-31fYy (f&T)

2. Femur / $r&-3HQY (q'ﬂTR')

3. Ulna / 3@ U1 T (I

4, Carpal / Hivre e (hIRUT)

Correct Answer :-

« Femur / $&-3RY (q'ﬁTR')

54) Iron stores are reduced in . H ?ﬁ_&' HSR $H 3-)[
rd g

1. Microcytic hypochromic anemia / GEHTIE 3feddUll IFATEdT (HTSeh ITACdh BISUIShIHD

2. Macrocytic normochromic anemia / ®cITU[c> HTHIGU IgdTedd m BICIEAIECY

3. Pernicious anemia / fa8Td® YadTeddn (TR T
4. Haemolytic anemia / TFIITA XadTedd] (@HITAICH TAIHAT)

Correct Answer :-

AN

« Microcytic hypochromic anemia / JEHTU[d 3fedqull TFATICT (AT AITCH SISUIh!

K=
)

55) The site for CSF collection in adult is | IO § HTHUH IE o

fore w=im, 21

1.Ly- Ly

2.Ls-Lg
3.L;-L,
4.15-Ly

Correct Answer :-

e Ly-Ly

56)
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Buffy coat is used for preparation. | B Pl TR HA
H ygad g 8|

1. Sickle cell / Rehe IR

2. LE cell / TdS DIRIBT

3. Parabasal cell / TRTUR IfRAehT
4. Supertficial cell / ﬂﬁg)[ PIRHT

Correct Answer :-

« LE cell / TdS HIRBT

57) Which forms of Plasmodium falciparum are generally absent in peripheral blood film of

the patient? / TTSHITSTH BRI & $IF T YR, ITHRIG: A7 $t uRdha Iaa feeq
& Uiy g 82

1. Rings / B Ry
2. Schizonts / %ﬁﬁw

4. Trophozoite / 'lecﬁ-lFI»-, [

Correct Answer :-

« Schizonts / %’Tﬁﬁﬂ

58) Normal systolic blood pressure is ./ ATHT Ypa Yaddrg
gl

1. 70 mmHg

2. 80 mmHg

3. 90 mmHg

4. 120 mmHg

Correct Answer :-

e 120 mmHg
59) The protective outer covering of some bacteria is ] PO Gﬁ?ﬂT{[Gﬁ DT IETHD
CIRIREICRY | g gl

1. Flagella / R (TR
2. Pilli / et
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3. Capsule / W
4. Inclusion granules / THTART SHT0TehT (Al a_:],?\‘:l)

Correct Answer :-

« Capsule / %31:&31

60) WIDAL test is a/an ./ fasTa Gﬁw
1. Precipitation reaction / et fffesar
2. Agglutination reaction / o 3iffehan

3. Complement fixation / YIh B

4. Color reaction / T Ufdfehdr

Correct Answer :-

« Agglutination reaction / o Siffehan

GET IT ON
Google Play

61) Yellow color of CSF is known as J '\"'ﬁ'w &1 diar 31

& ¥q § 91 Sl B
1. Hyperchromia / Sffaauffaar @mﬁtﬂ)
2. Xanthochromia / Yidquffaar (a m
3. Normochromia / STATIAUIAT (HW'&PTD
4. Hypochromia / FgauifadT (gTguieh o)

Correct Answer :-

« Xanthochromia / Udauifadr (a m

62) Gas gangrene is caused by ./ g A=
1. Clostridium tetani / W?E%W@E’Wﬁ"

2. Clostridium septicum / W@?@W I0HT

3. Veilonelle / dd-eai!

4. Gonorrhoea / oIl (Th:nﬁtﬂ)

Correct Answer :-

 Clostridium septicum / W@W@W IoHT
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63) The molecular formula of glucose is ./ TP BT 3T LA
2l

1. CH,0,
2. C3Hg0;
3. C¢H 204
4. CgH 505

Correct Answer :-

» CgH120¢

64) Immunoglobulin which can cross the placenta is ./ Uﬁ?&l'l"?ﬁ?lﬁl:l

GEHATA ) St T $1 IR $ GPHd1 8 a8 g
1. Ig M / 3TSoll TH

2. 1g G / 3ATEoit Sit

3.IgE/ 350 §

4. 1g D/ 3MTsoil Bt

Correct Answer :-

. Ig G/ 3MTSoit SiY

65) is a ketone body. / U® BicH gist gl
1. Urea/ Qﬁ'&ﬂ
2. Creatinine / fobUfe i

3. Uric acid / w ST

4. Beta-hydroxy butyric acid / EﬂET-BTq@_CFﬁ W &I

Correct Answer :-

« Beta-hydroxy butyric acid / @ET-B'I’Q@TR:F[ @;@'W &

66) Standard method to estimate heamoglobin is ./ SN STpad Bt
A fafy gl

1. Sahlis method / FTgeiel fafer
2. Cyanmeth Hb method / Y s fafe
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3. Hemocue / ‘sﬁ?ﬂl

4, Copper sulphate method / PR Fethe fafe

Correct Answer :-

« Cyanmeth Hb method / HTO-THY g fafdr

67) Life cycle of plasmodium in man is called as ./ b AfdT ﬁqmﬁﬂﬁmwm
St I Fgaar el

1. Schizogony / IGECERISEE] (Eﬂ\?ﬁ'fﬁl:ﬂ)

2. Plasmiogany / PIRIBTEH-HeT (@T&[&ﬁﬁTﬁ)
3. Sporogony / STSITY] Saga (TR

4. Gametogony / THD Jagqd (ﬁﬂa'lﬁ:ﬂ)

Correct Answer :-

« Schizogony / faGE-IS+ (TSI

68) Anticoagulant that chelates calcium is ./ YFPT-eR ot Hferraq &1
PIde BT 8, I8 2

1. Heparin / %'Clﬁ:f
2. Phosphate / Bibhe
3. EDTA / 3SIE1T
4. Fluoride / FAIRTSS

Correct Answer :-

. EDTA/_ESé'é'Q

69) Sickling test is done for ./ IFTeqdr & fore Ryspfei
a1 &t 7

1. Haemolytic anemia / Jadardt Yadreddr (%ﬁﬁ«l% U,T‘ﬂ&lﬂ'l)

2. Sickle cell anemia / G PIRIBT eIl GEL Iqd egijiaes))

3. Megaloblastic anemia / HETCI QYUY IFdTeddT (ATTClsATRe e THITHAT)
4. Iron deficiency anemia / Q'?IE; U IadTedd (3{TARA %'EFW@'&WD

Correct Answer :-

« Sickle cell anemia / G DIfRAHBT Xadredal (Ridvd Tal THITRRAT)
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70) Who invented Bombay Blood group? / Itk U b1 MfIspR feam faar

1. K. Landsteiner / &, TSRITR
2. Y.M. Coombs / aﬁ@ﬁm
3. R.R. Bhende / 3R.3R. s
4. Robert Koch / 30TqC B

Correct Answer :-

« RR. Bhende / 3R.3R.VS

71) CANCELLED

Which of the following possess capsule? / a9 fead aﬂ;ﬂﬁ g %?

1. Streptococcus pneumoniae / @[@W"W GGl
2. Staphylococcus aureus / Rihaieiey Ty
3. Neisseria gonorrhoeae / mﬁcﬂ ﬁ?Tﬁf&T

4. Bacillus anthracis| ST TR

Correct Answer :-

o Streptococcus pneumoniae / Q@W GGl

72) Chinese letter arrangement of cells is shown by which of the following bacteria? AL

& fo oftary gRT A+t ergRi 3t FrawT g=1ig @il 81
1. Neisseria gonorrhoeae / m Mo

2. Corynebacterium diphtherize | PIISaIRTH fewifear

3. Vibrio cholerae / fafsrll HIeR

4. Escherichia coli | SRR HIdTg

Correct Answer :-

e Corynebacterium diphtheriae | PRIdaIgr ferifar

73) Volume of anticoagulant in 350 ml blood bag is

YgpT- AN B AT R
1. 50 ml / 50 FHeliciiex

./ 350 firefielier vaa Aet &
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2. 30 ml / 30 foefieliex
3. 49 ml / 49 foefieiieR
4.29 ml / 29 THeleex

Correct Answer :-

« 49 ml /49 THdIceR

%4) Cast seen in urine is JHA ﬁﬁ@ﬁ?ﬂ W are &g -
|

1. Calcium oxalate / W 3ffae

2. Leucine / T8I
3. Tyrosine / EIS;Q-”%IH

4. Waxy / fayaq @i

Correct Answer :-

. Waxy / Rieyaq @ah

75) Hay’s test is based on the property of lowering of bile salts. / % G|
e, foa waui & B HH HIA P T TR ATTRA 3|

1. Surface tension / Y§-d-Id

2. Volume / HIAT

3. Specific gravity / fafRry o
4. pH/ tﬁ'@

Correct Answer :-

« Surface tension / Y§-d-ld
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